APKCHHYC, apKKOCHHYC,
APKTAHI'CHC H
APKKOTAHICHC



Bonpocs! 1151 IOBTOPEHUS

1. YUTo HA3BIBAKT APKCHUHYCOM YHCJa a7
2. UT0 Ha3bIBAKOT APKKOCHHYCOM YHCJIA a7
3. UT0 HA3BIBAKOT APKTAHI€HCOM YHUCaa a?

4. UT0 HA3BIBAKOT APKKOTAHICHCOM YHCJIA
a?’



arcctg 1, arcctg (-1), arcctg V3,
arccos 1, arccos (-1), arccos ',
arccos (-1/2), arcsinl, arcsin(-1),
arcsinl/2, arcsin (-1/2)
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a) aresin 0+ arccos 0; §) aresin ( — Lz'—) + arccos IR
& V) i3 . £
& B) arcsin «-%—-I—arccos lz -5 1) arcsin{— 1) +arccos \’—2 :
a) arccos ( -0,5)+ aresin (—0,5);
. 0) arccos | ——~ | —arcsin (— 1);
¥ B) arccos ( —}2_) -+ arcsin ( —= lif);
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~ T) arccos — —-arcsin ——,
2 2
a) arctg 1 —arcig \/3; 6) arctg | —arctg(—1);

B) arctg (— \-"5_) +-arctg 0; r) arctg Tl?_}_ arctg \«’3.

® CpaBHHTE dHCiA:

; 1 V3

g a) arcsm(-E) M arceos —5—;

1

& 0) arccos (—E) u arctg (—1);

| I ; V3 .1
B) arctg V3 wu arcsin 1; r) arccos|{ — 5 ) 1 arcsin 5.




M1 ¢ pomompo kaneryasTOpa Man tabaui HalIuTe 3HAUE-
HME BBIPAKEHHI:
a) arcsin 0,3010; arctg 2,3;
6) arccos 0,6081; arctg 0,3541;
B) arcsin 0,7801; arccos 0,8771;
r) arctg 10; arcsin 0,4303.

Beruucianre:

a) 2 arcsin ( — -\l;—) + arctg (-— 1)+ arccos -\{2—-2_- 2

.1 1 w1
0) 3 arcsin —§+4 arccos(-_f@.—-)warcctg (—V3);

r-v-..

B) arctg ( — \/g) +-arccos ( — lz"") +4-arcsin 1;
: 3 1 1
r) aresin (—1) —— &rceos - -+ 3 arctg ( — W)







